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The Simpsons were watching TV news, and they are debating who is right on this issue.
Here is what news is reporting;

	(Number in thousands)
	Year 2009
	Year 2010

	Unemployment
	15,009
	15,325

	Employment (Total)
	138,786
	139,240

	
	Full time
	111,513
	111,854

	
	Part time
	27,273
	27,386

	Adult Civilian Population
	138,786
	139,240

	Not in Labor Force
	82,707
	82,495

	Part time for economic reasons
	9,178
	8,847

	Discouraged workers
	1,197
	706




Whose comment is correct about the economic situation reported in above news?

A. Homer said “The economy was not recovered in 2010. Look at the unemployment rate! The unemployment rate in 2010 is higher than in 2009.”
B. Merge said “More people have jobs in 2010 than in 2009. The economy was better in 2010 than in 2009.
C. Bart said “More people got unemployed in 2010 than in 2009. The economic situation is poor in 2010.”
D. Lisa said “More people are engaging in labor market either working or searching for one in 2010. It is a good sign that economy is doing better in 2010 than in 2009.”

